PUNJAB EXAMINATION COMMISSION
EXAMINATION 2015, GRADE 8 Model Paper

MATHEMATICS PART - A (Objective Type) 2
Part-A = 48 Marks, Part-B = 52 Marks, Total Marks = 100

Ll F S
Student Name Total Marks MCQs
(In Capitals)
Signature of
Examiner
Roll Number
(In Figures) i i Signature of\Head
Examiner

. . For Official Use Onl
Superintendent Signature --------------------- y

General Instructions: ey
1) Students are advised to choose one correctianswer toevery question.
S RLRE L LS R N
2) Read each question carefully before answering.
oy pfile i S
3) Encircle the correct option of MCQ with,a Black /Blue ink.
_ufis’)u’ua,gﬁydf / dK/,_,uzé‘ ZJirdé V-2
4) More than one encircled answers will be.considered incorrect.
¥ L(a.l.rru.’.{ e 9302 6L A sl e L]
5) Encircle the correct answer.as shown inthe example:

-‘g.l.f.l‘l;; JJ?’I&?J,%U’I»/L?I:?{

Example: x* + x? = Xt +x2=
a) x8 b) x® c)x* x2
Part-A (Multiple ChoicexQuestions) Time Allowed: 1 hour

Instructions: -Thirtystwo (32) Multiple Choice Questions (MCQs) are given in this part.
Choose answer for eachrguestion. Each question carries 1.5 marks.

A58 g S F 26 .t s S8 32U o 1 i

Q.No.l.  Asubsetof {1, 2} is: _;‘_.:{325{1, 2}
a){ } b)y{{2}} ){(2)} d) ({2})
Q.No.2.  Powersetof {9} is: —ceredb {9}

) ({0} {9}3 bW {9} o{}9} d) {2.9}
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Q. No.3.

Q. No.4.

Q. No.5.

Q. No.6.

Q.No.7.

Q. No.8.

Q. No.9.

Q. No.10.

Q. No.11.

Q. No.12.

Q. No.13.

Q. No.14.

The rational number among the following is: -4.»:J"L-U:J,5z~,»

a) \2 b) V4 c) V6 d) V8
25 _
64
5 8 5 5
a) 3 b) 5 C) 5 d) ﬁ
The square root of 289 is: -<-1ig6289
a) 13 b) 15 c) 17 d) 19
If the area of a square field is 121square metre,then the length of its one
side is: e QUST LL Il 12tgse b 8 L1

a) 10 metre <~  b) 11 metre ~ C) 12 metregs d)13metre ~
The decimal number 117 is written in base 5 system.as:
& 6 L5 1T

a) (234)s b) (243)s c) (342)s d) (432)s
(4)s + (3)s =
a) (12)s b) (21)s ) (22)s d) (23)s

(1001)2 - (101), =
a) (100), b) (101), c) (1001), d) (1100),

If 20 men construct a buildingin 40 days, in how many days will 10 men
construct the same buifding?

8L LU E S = M IET109 b US40 A8 L185T20.1
a) 10 0):20 c) 40 d) 80
Noor bought a bicycle for Rs.5450 and sold it at 10% profit. His profit is:
-‘gdb-‘(u’l-g,(&)/.{:ébﬁ 10% Ald,g/'uf$us450gﬁl/u{li.ﬁ

a) R$.450 b)'Rs.545 ¢) Rs.5460 d) Rs.5995
(3%%+1)-(2%%-3).=

a) X+2 b) x2-2 C) x>+4 d) x2-4
(x*+3x3 )+ (4x%+5x3)=

(a) 5xH+8x4+4x? (b) 5x8+3x3+4x2

(c) xH+8x3+4x? (d) x*+8x°+4x?

If two times of a number is added to three times of another number, the
sum is 40. The linear equation for this statement is:
‘ab'lglaguf:ablz&uugfugu’l-‘at’n40(f'wb?é_lg.lf(f'fbrufé)ﬁg/uugufUr;)d:u&..{l
a) 2x+3y=40 b) 2x+3y+40=0
c) 2x-3y=40 d) 2x-3y+40=0
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Q. No.15.

Q. No.16.

Q. No.17.

Q. No.18.

Q. No.19.

Q. No.20.

Q. No.21.

Q. No.22.

Q. No.23.

Q. No.24.

1 , 1 .
If X+ - 2 then the value of X + el equal to:

_4,4;49§Jx2 +% ;x+%= 2/
a) 2 b) 4 c) 6 d) 8
x2 - 81=
a)(x-9)(x-9) b)(x+9)(x+9)
c)(x-9)(x+9) d)©@-x)(x-9)
22+ 6z—72— 6=
a) (z+6)(z+1) b)(z+6)(z—1)
c) (z+3)(z—-2) d) (z-3)(Z=2)
Factorization of x>— 14 x + 49 is: “2670 X~ 14 x + 49
) (X—7(x-7) b) (X — 7)(X+7)
C)(X+7)(x+7) d) (x — 4)(x — 10)
a% +4b%-4ab—4c? =
a) (a-2b-2c)(a-2b+2c) b) (a+2b+2c)(a+2b+2c)
c) (a-2b-2c)(a-2b-2c) d)(a+2b-2c)(a+2bt2c)

In the given right angled triangle, the' value of X is:

-‘gcw:’:d/ X uﬁw,;lﬂl;}ls'é(d;
a) 4 b) 8
c) 16 d) 64 p, x

6
The result which can e inferred directly from the theorems is called:

e bl e el F b S L0012 Uity

a) basic assumption -z $ix b) theorem &~
c) corollary ' << d) problem ..+
In thé given figure,"AB is known as : 5 -t AB PG
a)sector b) secant ¢
c) chord ~: d) tangent s
A

The radius of a sphere having surface area 2464 m? is:
-ct;u’lu(u’lc‘a 2464m? J;l(i’d/z./.{l
a)14m b) 28 m c)42m d) 98 m
If a cone has height 6cm and base radius 3cm then its volume will be:
K675 3em s sek Lrion 66m SibkiS b # 1T
a) 18w cm?® b) 36w cm? ¢) 54w cm? d) 727 cm?
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Q. No.25. A polygon consisting of 8 sides is called: -4.8Mcw,ff‘}?"4cums

a) rectangle 4~ b) pentagon U~
c) hexagon - d) octagon u‘“'

Q. No.26. If two sides of a triangle are congruent, then the angles opposite to these
sides are : -wé'_ne,u,wﬁéufiunf et ot & 2dso £1S1
a) congruent J b) unequal L+ &
c) supplementary ¢ #<¥ d) perpendicular ¢+

Q. No.27. The measure of each interior angle of a regular, pentagon is:
-4.8;«;1,&'»0/ :al){}uil Y Lu} )f/.{l
a) 90° b) 108° c) 120° d) 135°
Q. No.28. In the given rhombus ABCD, AB isits: , _‘égmﬁ £ ABCD 2§

a) vertex U b) diagonal 7,
c) radius U d) base s« )
Q. N0.29. cos 45° = B
1 1 V2 1
Q) — b) — C) — d) —
‘e V5 )3 )
Q. N0.30. In the given right-angled triangle the value of b is :

C

_‘gg‘fg}/huﬁw‘;l)l:}ﬁfd;
a)4d b) 6

c) 8 d) 16

A c B
Q. No.31. The median of'the data, 0, 3, 4, 2, 6 and 8 is:
_‘a,glbdgs 216 <2 430219
a) 2 b) 3 c) 4 d)5
Q. No.32. In‘the given histogram the number of families having three children is:
_‘L)U’.jd/ uug;uf LRkt JKLM,;

70

8) 20 5,50
b) 30 2%40—
c) 40 5 R 30 -
d) 60 2 ™20 -

10 -

0 .

01 2 3 4

Number of children
ASSUE
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	Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Choose answer for each question. Each question carries 1.5 marks.
	Time Allowed: 1 hour
	اگر20 آدمی ایک عمارت 40 دنوں میں بناتےہیں تو 10 آدمی اس عمارت  کو کتنے دنوں میں بنا‏ئیں گے؟
	a)  rectangle مستطیل    b)  pentagon مخمس
	c)  hexagon مسدس    d) octagon مثمن



